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SET: | D

QAR : 196 15 O6Q
Time : 1 Hour 15 Minutes Q€ Qg : 50
T Q¢ % ael ITachr; 22 Full Marks : 50
7

JE Souese 506 gF CoaRs | geeNe Ode PISaIS 068 QRe SZuigs - -
g () g e dYY 900’y eF /[ RIR OR 09§ ene gler ng;' IE 001/ 90 0
In this Part 50 questions are given. Each question has four alternative a
'e answers. Ch .
answer from them and darken the appropriate circle completely in the OMR Sheg :ﬂf;f,eé?fef%}ﬁ?
ball point pen only.
g66a gae a1 (Na) 76 /
Each guestion carries 1 (one) mark.
Qg 4R QR 8 |
Answer all questions.
1. ABCD is a cyclic quadrilateral. Measure

1. ABCD 4@ QeIefgo 0g@e1 ZBAD
Q 0816 694 9106 Sg1 ORIDG L6EG 626? of ZBAD is equal to the half of the degree
—_ - measure of which arc ?
(A) BCD (Bf CDA (A) BCD (B) CDA
(C) CBA (D) DAB (C) CBA (D) DAB

2. G080 606 QBT QN 266 ? 2. Which of the following statement is false ?
(A) 6OIEN 9R6Q 605 OIR ANGARE! (A) Chords of a circle equidistant from
the centre are of equal length.

INIRSR 636 QIR :

~ ~ (B) Of any two chords of a circle, the

(8) 59'9‘?99999? ?_q’ Adea, 694 0"9 length of the one farther from the

qeReh QuIR 6304 FACOR B4R 6VRY centre is smaller than the length of the
O JYoR other.

A (C) Ofany twochords ofacircle the bigger

© GGIE‘Q Q9@ ¢85 & ﬂ‘u? Fese one is farther from the centre than the
YT 6@FOIR AR TSN other.

. e (D) In a circle the angles subtended by

(D) 615N 98 gaE' AT &I, Sa5OI6R two congruent chords at the centre ar¢

congruent.

600 6916 QYR KRB 6ANIEH AN

Qe @ARN GIG/SPACE FOR ROUGH WORK

AR/AXR-15-MTH-P-I Contd.
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3. G0 G 694 ANIFAEA 6M6Q Q19
Lk
(A) x*-2x-8=0
(B) K +5x+3=0
( x—4x+4=0
(D) X2+ 7x+5=0

4. 6x+ 11x+k =0 QAIR0ER 6QIGN 19,

20 QIG0R QIQgN 6268, ka AR
g eal

(A) 6

|
(B) 7
o
© =

() =
6

5. AABC g ZABC Qneai€ 9e® BD L AC
6260, BC? = CD x

(A) D
of o
(C) CA
(D) BA

SET : D

3. Which of the followin
has no rea| value ?

g quadratic cquation

(A) xz~2x—3=0
(B) x*+5x+3=0
(O x2—4x+4=0
(D) 3x2+7x+5=0

4. Ifone rootof 6x° + | Ix + k=0 be reciprocal
of the other root, find the value of k.

(A) 6
1
B)

(©) =L

6
il
6

5. In AABC, ZABC ig right angle and
BD 1 AC, then, BC"=CD x

(D)

(A) DA
(B) DB
(C) CA
(D) BA

@ @6iQ! AIR/SPACE FOR ROUGH WORK

AR/AXR -5 MTH - P-I

P.T.O.
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6. 6o 080 Gge QAIGH ANTE R 26T ?

(A) 98¢ Q8 GRER 63GTR AAIR 626A.
30090 Qe

(n'( 6915 e gaf 6716 QAIFEA AR
4R GHEN QA6 6RI6 AT ATUN 6UER,
39e §0 23an

(C) QQEERIEN GPe TOR AGRT AFARER
69aY aAIgQIL!

(D) 996 AQH GHFR 6ALTRA AGAIS,
a9 Jeeaa atQIne eaIgale
QT QIR

7. QIS 910Q SIBQ 59 6961 06Q AIEE A8 ARSI
adus 606 oG 2860 QRaIN, QIR ¥4
QEIIN ?

(A) 69980 9!

—

(g:}ﬁﬁ'ﬂl‘a qae!
(&Y dec 21Ael 90!
(D) O8I 80Q1 9oG!

8. QRQIRAYFTRER MR FALIRAYC

CNGQ gQI 0K 941 ?
(A) Compressed Normal Gas
(B) Centified Natural Gas
(C)/ Compressed Natural Gas
(1) Consumer Numeral Gas

SET: | D

6. Which statement is false related to triang)
similarity ?

(A) If the arca of two similar triangles
is cqual, then the triangles are
congruent.

(B) Iftwo angles of a triangle respectively
congruent with the two angles of
another triangle, then the triangles are
congrucnl.

(C) Sides of two similar angled triangles
are proportional to lengths.

(D) Ratio ofthcarca of two similar triangles
is equal to the duplicate ratio of the
perimeter of those two triangles.

7. The distance covered by a vehicle before it
stops; after application of the brakes by the
driver is known as

(A) Braking distance
(B) Reaction distance
(C) Stopping distance
(D) Chasing distance

8. What is the full form of CNG, which is used
in vehicles ?

(A) Compressed Normal Gas
(B) Certificd Natural Gas
(C) Compressed Natural Gas
(D) Consumer Numeral Gas

Qe @RI QIR/SPACE FOR ROUGH WORK

AR/AXR-15-MTH- P-1

Contd.
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SET : D

D
QR C6R PA = 8 6Q0.PB = 18 698 @

In the given figure PA = 8 cm, PB = 18§ em
PC = 6 6QF1 6269, PD 665 629 ?

and PC = 6 cm. Find the length of PD.
(A) 16 646 (B) 24 6Qf (A) 16cm (B) 24 cm
(m/zﬁ 6Qf (D) 14 6@ (C) 26 cm (D) 14cm

10. QaC o481 Qe QUIAIE 2 67 G 8 6afl 10. Radius of two externally tangent circles arc

98 FO9 ¥R QAT AUISA A6 QUaQ ﬂﬂ'é‘{ 2 cmand 8 cm. P and Q are the point of
P8 Q coeq P S : contact of direct common tangents of the
m}) 66, PQ & 661 6a66 699 ? circles. What is the length of PQ ?
7 6Q0

(%) 12 6@ (A) 12cm

(B) 8 64 (B) 8cm

(C) 14 6@ (C) l14cm

(D) 16 6@fi (D) 16 cm

. YG69a0 6000% 088 @ 9660 23040 11. What s the length of the side of an cquilateral
ARG Qe QIR 63N 6967 triangle which is inscribed in a circle of area
v square unit ?
3y
(A) ¥ <ee (B) 3 E e

3y _ {; :
T Vnr (A) \’? unit (B) 3V; unit

(Q/ —E‘GG?Q (D) ! Y aqe C \jl unit (D) l\/g unit
3y 1V n (©) yiy IVn

QT KA IG/SPACE FOR ROUGH WORK

AR/AXR - 15 - MTH - p-I 5 rT.0.
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12. 99 26N 9@ NG 2IRC T Qg LRI

dRea 21REa A9, 6068 ARAAQ 1A
6 699 ?

(A) ofdae
(B) @fQe

(4 Qageeee
(D) QQfeaif

13. 908 Q2 QAIRQEQ AARIR QAT RE6R,
CAAIRE TR GO 6RHGER 990 FAR 629 ?
(A) O9QW 6841669
(B) 28R 626Q
(C) QB 6268

(D) afcee @

14, kaeeuaau e x-2y=3,3x+ky=1
qymma QRCQ PG QARG ANQ ?

(A) k=6 (B) k#6
(C) k=3 (D) k=4

15. cos75° @ QRN ER6E 2

J— _ -
(A) ‘%‘5—1 (h/%

NE V3 +1
(€) BN D Hh

SET: | D

12. If we change the shape of an object from

13.

14.

15.

a sphere to a cylinder, then the volume of

cylinder will

(A) Increase

(B) Decrease

(C) Doubles
)

(D) Remain unchanged

If two simultaneous equations have no
solution, then what will be the nature of the
graph representing these two cquations ?

(A) Intersect each other
(B) Coincident

(C) Parallel to each other
(D) Can'tsav

For what value of k, the system of equations
x -2y = 3. 3x + ky = | has a unique solution ?

(A) k-6 (B) k#6
(Cy k=3 (D) k=4

What is the value of cos 75°?

\6*] \G
A -
(A) \E (B) 2\/5
©) \ﬁ—l \ﬁ +1

22 W

A ARQ! AK/SPACE FOR ROUGH WORK

AR/AXR-15-MTH-P-I
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(6. 6ad 98 QARNUER 6NER ARC Q1 ALRT F4ia

CRINIRAIEA ?
(w{ Qesgica  (B) €QIIQQ
(C) QERIASR (D) QBESINIRY

SET: | D

16. Which mstrument is used to measure the
angle of clevation or depression

(A) Hygrometer (B) Protractor

(C) Clinometer (D) Theodolite

C
/ 120°
A
17. 17. \ 5 B
D
o @‘QGQKAB e Il £COB = 120° In the given figure AB is the diameter.
SR, ZADC Q@RI 660 ? ZCOB = 120°, find the value of ZADC.
(Vﬂa (B 45 (A) 30° (B) 45°
@ 60° (D) 90° (C) 60° (D) 90°
18. 62151 996ER IR QU1 6Q% 0KQ 60° 6RIE 18. Chord of a circle forms an angle 60° at its
QR Q61 210 53 63 6QF 6TER. centre. If its length is 6y3 cm, what is the
605 019 24l 90 ARG A 63y Q66 ? length of the altitude drawn from the centre
- to the chord ? https://www.odishaboard.com
‘**:/fv@ 6af  (B) 943 6f A) ofzem  (B) 93em
(®) 6 6Qf (D) 9 6Qf (C) 6cm (D) 9cm
19. 983.3,5 x 7613 aare@é 94, 6069 19. If 6 is the mean of data 3, 3, 5, x, 7 and 13,
NLIR Q09 ERES 629 ? then what will be the mode ?
(A) 3 (B) § (A) 3 (B) 3
(?76/ (D) 9we 365 (C) 6 (D) Both3and5
"ﬁ*__
QQ @GSl 9IR/SPACE FOR ROUGH WORK
AR/AXR _ 15—~ MTH - p.J 1 P.T.O.
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@ SET :

20. "M’ QRIS GEF N QR AQRUSAING FAUQ 20. "M’ is the mean of n numbcr of scores |y

JeeuaR 5 F101 NIY @6A GOR AQUIRAINED each score 1s divided by 5. what wil| e the
CRICTIN 6RE0 699 ? mean of the new scores formed ?
(A) M @ M (A) M B) M
/ 5 5

(("( 5M (D) M- 35 (C) SM (D) M-5

21. 6QIq UGS FHY 9@ SRR ANGR 1232 QR 21. The volume of a conical tent is 1232 m'land
€16 8 RAG 6BCTR 154 Q4 FicRl 60 the arca of its base floor is 154 m”. What s
QP! 6066 ? the height of the tent ?
(fyﬁ (B) 144 (A) 7m (B) 14m
(Cf 244 (D) 18§ (C) 24m (D) 18m

22. 99 6QIT 6QINGQ UIAIE 10% I, 6069 | 22, Ifthe radius of a sphere is decreased by 10%,
OIVIA IROR 6REC AORY @ANR? then volume of sphere will be decreased by

what percentage ?

(A) 25.6%
(A) 25.6%

(B) 30.6% (B) 30.6%

((;‘)/27.1*.% (C) 27.1%
B) 32.5% (D) 32.5%

23. 30 996 ¢fie gaoea gaae 270 6vew. 69 23. Product of two consecutive multiples of 3
is 270. What will be the smallest multiple

among these rwo 7

( 12 (B) 15 (A) 12 (B) I5
(C) 27 (D) 18

Q8% AuQ YGOR FELRT 6R60 689 ?

(C) 27 (D) 18

QT @691 QI9/SPACE FOR ROUGH WORK

Contd.
AR/AXR - 15-MTH-P-l 8 on
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24.

25.

26.

27.

G 95969 U 66 QR 260 ?
(A) cauzgenat =n-1
o121 4@ A.P. 266

) 6Q6aaQ AR 0o QIgga A.P.
60 Q@66
(C) 5.x, 9 QeNga A.P.6Q QRN x 6
699

(D) 60 AGFNQ S, =

o121 9@ A.P. 266
A(2.-5) @ B(5,2) @9 90q 6019 RS
6aRIeg 2: 3 BRUIG6R 2SN GReQ!
306 6°Q Q196 2RTG ?

(A) 1 (RY 11
(C) I (D) IV

nn-1)
2

6aIcM g a18ga (0,0, (3,0) 6 (0, 4)
6260, HPERGA TIRIT 6760 6297

|
(A) [5.2] (B) g]

© @,n (1) (0,3)

G018 690 986 e 60I0e OF4Ig 914 ?

(A) ¥Q8QAIRe 88 acel

(B) AR QaI0Ie §8% Q€I

W) 0F acagee 9@ ANace 9% 7Y
(D) @0 (A)6(B)

e

SET: | D

24. Which of the following statcment is false ?

(A) A sequence such that t =n-| is an
A.P.

(B) Sides of any right angled triangle will
be inan A.P.

(C) If5, x,9arcinA.P., then x # 6

n(rl-—l)is

(D) A sequence such that S =
anA.P.

25. The point which divides the line segment

joining the points A(2, -3) and B(5, 2) in the
ratio 2 3 inteally lies in which quadrant ?

(B) 1l
(D) IV

(A) |
(C) 1M

26. The vertices of a triangle arc (0, 0), (3, 0)

and (0, 4). The centroid of the triangle is

|
A) (-2-.2) ) (|§)

€ .1 (D) (0,3)

27. Which of the following statement defines a

compound event ?

(A) An event that has only one clement

(B) Events with multiple elements

(C) If the events cannot occur
simultaneously

(D) Both(A)and (B)

Qg @59l QIG/SPACE FOR ROUGH WORK

AR/AXR-15-MTH - P-l

P.T.0.
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7 SET: | )

28. Q2R 50 ¢ ARINR qsiqw ARIQ A9R! 6AITN 28. A num!:}f:r is. selected at random from firy
Qe QIF6R, 0121 3 84 Q Q8GR 62918 50 positive integers, then what will be i,
QAICYD! 6060 ? probability that it is a multiple of 3 and 4°

A - ®) - A 2 B) ~

(A) /50 25 (A) 50 25
1 2 o - D) 2

© 2 D) o5 © 3 )2

29. A, B.C 4@ GReQ 86015 616 626%, 29. If A, B, C are the angles of a triangle, then
tanA +tanB + tanC = S tanA+tanB+wanC=
(A) cotA+cotB+cotC (A) cotA+cotB+cotC
(B) tanA-tanB-tanC (B) tanA-tan B -tan C
(G’/;nA.tanB.tanC (C) tanA .tanB .tanC
(D) cotA.cotB.cotC (D) cotA.cotB.cotC

30. 980 AT 6R6E 626m 6A2 989 11 6f 30. What will be the radius of the circle, such that
QAGAG QI0e &1 0dAIa 10° 699? degree measure of its |11 cmarc is 10°?

9 - 9
(A) Z 641 (B) 63 6an (A) ; cm (B) 63 cm
(CY 126 6a8 (D) 12.6 6QQ (C) 126cm (D) 12.6 cm

31, 8@ A(l, 2), 0(0, 0) 9&° C(a, b) Ken 31. If the points A (1, 2), O (0. 0) and C (a, b) |
Q6aY 928, 6569 are collinear, then
(A) a=b (A) a=b
(B) a=2b (B) a=2b
( 2a=b (C) 2a=b
(D) a=-b (D) a=-b

Qg @RI YIG/SPACE FOR ROUGH WORK
AR/AXR-15-MTH-P-I 10 Contd.
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3, 601 G99 a18eg g8 (4.1), (1,1)8(3.5)

co6, €@l 6a0 JRI0a §9R 69Q ?

SET : D

32. Atriangle with vertices (4, 1), (1, 1) and

(3. 5) is which type of triangle

(A) QARSI AT (A) Right angled isosceles
(B) S8AQY (B) Scalene
(C) ANRRIg (C) Isosceles
(Q/EQGQIEH (D) Right angled
3. (x-3y)6(y - X) Aua 9IS AR 33. What will be the arithmetic mean between
Q699 7? | (x—3y)and (y - x)?
2% ~ Y .’ 3(_ 2x - X
A = " 3 A =2 @ ;
0 =2 -y
© 35 (D) -y © (D) -y
M. 6aIFING6Q IT AN N B5T AR @A 281 | 34. A bag has 3 red balls and 5 green balls. If
IR FOaQ R6RY AQR! 61T 90 QIR we ljke a ball from the bag without looking
e o inside it, then what is the probability of
PRI 6RR QIR 9N 6291 AAUME! 6060 7 getting a red ball only ?
3 “"JA ) 3 ® :
3 8 3 g
3 | 3 !
(C) = - 2 -
) 3 D) 3 (© ™ 2
3. ¢eaya Q60 6912191 6Q1OQ Qg AR 35. An imaginary line that stretches between
fanRge Qehie 608Iq ¥ I ? your eye and the object that you are looking
(A) 6eQlEie aad at is known as
B — m_ (A) Angle of elevation
, B) colge 2c0d (B) Angle of depression
(y@a (A)GB (B) (C) Both(A)and (B)
I ---...EL Qa6oa) (D) Line of sight
' QQ @AQI AIG/SPACE FOR ROUGH WORK

IS-MTH-p.J 1

P.T.O.
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36. 808 AUR 6°AF AQA 5Q 699 A ?
O (A) NRRE QW

(B) 614e 966G
(@)/:21&49 QAgQg Gge
(D) 4gEe AQ A9a BQ 66e

37. o8 5960, PQ @ Yl 98 P 8460 aR0 29
PTIZQPT = 60°626m ZPRQ @ ()4 6060 ?

‘

R

- >
T

(?/II;S" (B) 150°

(C) 120° (D) 110°

EE 6@sa PQL 6 PRM qée 0.0 6QQ
SO} NP QRQ AN Q 6 R g6 @8
@Rl S 90 aade 18 9@ G0, 6gadd
£SQL = 50° 6 ZSRM = 60° | LQSR

Q adel @ ?
(W
( 70°

(B) 60°
(D) 80°

36. Which of the following are not similar
figures ?
(A) Circles

(B) Squares
(C) Isosceles triangles
(D) Al of these figures will be similar

37. In the given figure, PQ is a chord and PT s

the tangentat P. ZQPT = 60°. Find the valye
of ZPRQ. -

/)
- P TZ‘—‘

(A) 135°
(C) 120°

(B) 150°
(D) 110°

In the given figure, PQL and PRM arc tangents
to the circle with centre O at the points
Q and R respectively. S isa point on the circle
such that ZSQL = 50° and £ZSRM = 60°,
what is the measure of ZQSR ?

(A) 40° (B) 60°

(C) 70° (D) 80°

QT RAQ! QIR/SPACE FOR ROUGH WORK

AR/AXR-15-MTH - P-| P

Contd.
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.

d0.

dl.

42,

3 T AuQ 65 QWIS AR QTNIA 3

969 2@ 4S° QIR QMR 4 Q&I % Qe

OR 5 2@ 696R. AR AT 6260 ?

(A) 9 (B) 8
(€) 7 (D) 6
|-x = 2x* @ Q600e A4a @al
(A) 3 (B) -7
) £3 (D) 9

12 6afi QIS 38] 6QITI R 6TET
L9eR1a 0109 caGaiIg adaia T ceem,

IR0 6HGAR 6960 629 7
(A) 23 1 Qd 6xf

(B) 244 qdl e
(&Y 16 & @4 6@

(D) 38 n od 6q&

66154 GRaon cgqan 6agae 118864630

41Q 18 6 6R6M, RETI 6REE 6297?

(A) 105 caf ) 28 Q@

(€) 146ad (D) 21 6Q8

“‘-""-——__

SET: | D

39. Between two numbers, greater number is 2
more than thrice the smaller and 4 times the

smaller number exceeds the greater by 5.
Find the smaller number.

(A) 9 (B) 8
(C) 7 (D) 6

40. Find the discriminantof | - x = 2%°
(A) 3
(C) £3

(B) -7
(D) 9

41. The radian measure of any sector of a circle

, I .
having radius 12 cm1s ~ . What will be the
area of that sector ?

(A) 23mem’
(B) 24m ::m2
(C) lér cm’
(D) 38m em’

d diameter
42. The curved surface arca an
of a cylinder are 1188 c:‘m2 and 18 cm
respectively. What is its height ?
(B) 28cm

(D) 2lcm

Qg QI QIRISPACE FOR ROUGH WORK

AR/AXR _y5_ MTH - P-1

P.T.O.
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43. 1 +3+5+ ... .+ 2] Q QIR 660 ? 43. What s thesumof 1 +3+35+. ... +2]
(A) 441 (B) 169 (A) 441 (B) 169
(C) 121 (D) 144 () 121 (D) 144
| | 1 .
44, —+—+ +... 14 § Q0@ 44. Find the sum upto 14 terms of the sequence.
5x6 6x7 Tx8 | i ]
. $—t—t...
6QINTR LA QQl 5x6 6x7 Tx8
14 13 14 13
— By — — B) —
(X) %5 ()90 (A) 55 (B) %
2 3 2 3
© 15 (D) 20 © 15 (D) 20
45. QoR Q: 45. Simplify :
tan (55° - o) cot(35°+ ) tan (55° - @) — cot (35° + o)
(A) 0 (B) | (A) O (B) 1
2 2
—_— = . —
© F (D) 2\3 © f (D) 2V3
46. cos(A-B)-cos(A+B)= . 46. cos(A—B)—cos(A+B)=
(A) 2«0s A. cos B (B) 2sinA. cos B (A) 2cosA.cosB (B) 2sinA.cos B
2cosA.sinB (D) 2sinA.sinB (C) 2cosA.sinB (D) 2 sinA.sinB
47. 98 ABC 8 PQR 89@ 90966, 47. Ifin two triangles ABC and PQR,
AB BC CA
A o = T Qe 606Q iﬁsz_(:.:Eé,lhen
QR PR PQ QR PR PQ o
(A) APQR~ACAB (A) APQR ~ACAB
(B) 6R ~AABC (B) APQR ~AABC
(C)/ ACBA ~ APQR (C) ACBA~APQR
(D) ABCA ~APQR (D) ABCA ~ APQR
R
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48. AABC ~ ADFE, £A =30°, £C = 50°,
AB =562 ,AC=86Q¢ B DF=756Q6
sa;e?ﬁé AuUQ 6966 QoM ?

(X) DE=126Q8., £F = 50°
(B) DE=126Q8., ZF =100°
(C) EF=126Q4, ZD =100°
(D) EF=126Q8., /D = 30°

49. GRIOR 6AY A *8 @' Fda

@Y ?
(%) <9

(B) enauag

(C) quai

(D) otse

50. QT 98 CAISNIR AIRIFIR 2.6 9, 6569

SET :

which of the following is true ?
(A) DE=12cm, £F = 50°
(B) DE=12cm, £F = 100°
(C) EF=12cm, £D =100°
(D) EF=12cm, £ZD =30°

(A) Range
(B) Mean
(C) Median
(D) Mode

D

48. AABC ~ ADFE, 2A =30°, £C = 50°,
AB=5cm AC=8cmand DF=7.5¢cm

50. If the mean of the following distribution is

P 9 QIR f4a a9l 2.6, then find the value of p.
QRIS 1 2 | p| 4] 5 Score | 2 | p| 4 5
Qleqesl | 3 3 ] | ) Frequency| 3 3 1 I 2
(A) 2 (B{ 3 (A) 2 (B) 3
(C) 2.6 (D) 2.8 (C) 2.6 (D) 2.8
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49, What can be determined using ogive curve ?




